0002259810477999

o0 EREXY O o°.>>-

2016 4 10 55 4 1 u )

4 Hylj {an} %al i — 1, an+2:a;l-}-l+an (ﬂ: ]., 2, 3, "')t:cto—t:lli’dbé. if:a%a: 1+%
Eilz TIEORBE T D, ROFMNZER L.

(1) $3 {Dn} % by = fiai TREDD. byyy % by & HNTHEY

@ n=1,2 3, WL To 2183 LERE.

B n=12 3, = HLT [by1 —al £ S |o,—a| L5522 2R
LB IEERE

Dn=1 28 ~IHLT|yp—a| <25

(D W=02= 1, An+2 = An+1 +Qn &, YBENED LS An >0 ¢T3

s EFCR 0 miITE An+t (£0) TH), T,

n+2 _ _An
Antt Antt

$2T, bney= 1+ (ba)™ TEPS, bapi= 1+ O

(2) An>0TH3:-%25. bn>0

{
= z - —
nZ2antE, bn Pees ® 1

- - Q2
= 14 = Skl =
h=19c%, b X |

LAESY, n=1,2,3,- 133717, bn Z1 k%3

®d=1+5 O

O-@ Y, bnﬂ'd:-bl_n"'i_
_ _
= (d=bn)
= — _.._1_.-._ o -
| bnrt = ot | FIETN, [bn—a|

€50, bn2 1 &Y, |bpri-d| S olbn-d| @

@) (3) &Y,
| o
[bn-a| = :,%lbn_.—ot] g D%ﬂbn-z“at[ I Nl L = R

IIT, A= f+;'z L), 1-d = —;’L- ToT

|
[ba=dl 3 = [-%| = 7 B




